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Part 1: 

1. Let yT, Y, i and r respectively denote the trend real aggregate output, 
the actual real aggregate output, the inflation rate and the expected inflation rate. The 
Friedman-Lucas money surprise model can be summarized by the simplified Phillips 
Curve relationship i - r = a(y- yT ), where a is a positive constant. 

(a) Please draw the simplified Phillips Curve and apply the diagram to explain 
why policymakers' attempts to exploit the Phillips curve may lead to a permanent 
increase in inflation and at best a temporary increase in aggregate output. (12 points) 

(b) Suppose a country has a= 0.7 in the 1980-2005 period anda = 0.lin the 
2005-2018 period. What is the implication when a becomes lower? (10 points) 

2. Consider a small open country A which is, as a whole, a price taker on world 
markets. Let all domestically produced goods sell at a price P , in terms of domestic 
currency, and all foreign produced goods sell at a price p*, in terms of foreign 
currency. 

Figure 1. The goods market. 

y 

Figure 1 exhibits that the demand curve Yd and supply curve ys determine the 
domestic real output Y and real interest rater , where r • is the world interest rate 
and r; is the equilibrium real output. 
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Figure 2. The money market. 
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Figure 2 shows the country A's money market equilibrium, where e denotes the price 

of one unit of foreign currency in terms of domestic curren9y, Ms and 
Md respectively is the domestic nominal money supply and money demand, and 

L(Y, r •) is the demand for real money balances. Assumed that (a½Y )> 0, 

{a½r. )< 0, and real money demand is much more responsive to real income than to 

the interest rate. In addition, let domestic inflation rate be zero and eP* = P . 

Please take Figure l and Figure 2 as the initial equilibrium and apply them tq 
answer the following questions. 

( a) Suppose that country A is under a flexible exchange rate regime. Explain how 

a shock of an increase in r • impacts on country A's real output, nominal exchange rate 
and domestic price level. (9 points) 

(b) Suppose that the government of country A stands ready to exchange foreign 
currency for domestic currency at the exchange rate e1 as in Figure 2. Explain how a. 
shock of an increase inr" impacts on country A's real output, nominal exchange rate 
and domestic price level. (9 points) 

( c) According to your analysis of ( a) and (b ), what is the policy implication for 
adopting either flexible or fixed exchange rate regime? (10 points) 
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Part 2: 

Question 1 (18 points) 

Taiwan's growth from the 1960s to the 1990s was much faster than the world average. 
Some scholars attribute such growth miracle to the rising labor participation rate as 
more women entering the labor market. However, other scholars claim that the growth 
in total factor productivity is important in sustaining Taiwan's long-term growth. 

1.1. (6 points) Please use a diagram to illustrate the change of the labor market 
equilibrium due to an increase in the labor participation rate. 

[Hint] Please describe how the equilibrium price and quantity change in a graph and 
in words. 

1.2. (6 points) Please use a diagram to illustrate the change of the labor market 
equilibrium due to an increase in the productivity. 

[Hint] Please describe how the equilibrium price and quantity change in a graph and 
in words. 

1.3. ( 6 points) Based on the fact that wages increased during this period, please clearly 
point out which view about the sources of growth (i.e., rapid factor accumulation 
or high productivity growth) is supported by this labor market fact. Moreover, 
please justify your answers. 

Question 2 ( 18 points) 

Taiwan's savings rate during 1974 to 1987 is above 30%, which is much higher than 
the savings rate nowadays. 

2.1. ( 6 points) Please use the Solow diagram to illustrate the change of the steady state 
output per capita due to a one.,.time and permanent decrease in the savings rate. Please 
also describe the changes in words. 

2.2. (6 points) Please draw a graph to illustrate the transition (i.e., changes overtime) of 
investment per capita implied by the Solow model due to a one-time and permanent 
decrease in the savings rate. Please also describe the changes inwards. 

[Hint]: Please assume that the economy was at the steady state before the savings rate 
decreases. Please also assume that the savings rate decreases at the 5th period for 
illustration purpose. 

2.3. (6 points) Based on the Solow model, is such a change in the savings rate (i.e. a 
decrease in savings rate) welfare improving? 
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Question 3 (14 points): 
A representative agent, Maggie, lives for two periods. Maggie owns a salt field, which 

produces 360 units of salt for the first period (Yo=360) and 420 units of salt for the 

second period (Y1=420). Maggie chooses her consumptions (Co, C1) for the two periods 

according to the rule: C1 = C0 • (1 + r). Salt is used as a medium of exchange in this 

economy. 

Let's assume Maggie faces real interest rate r (r = 5%). Please answer the 

following questions based on the Two-period model of consumption. 

3 .1. ( 5 points) If Maggie live in a community with a primitive financial market such 

that she cannot borrow but can only lend ( deposit), please discuss whether the 

underdeveloped financial market prevents her from pursuing the optimal consumption. 

3.2. (9 points) If Maggie happened to find that she has an access to a black market that 

gives an interest rate of 20% for borrowing and lending, please describe how the interest 

rate change affects Maggie's saving behavior, i.e., how (Yo-Co) changes. Moreover, 

please justify your answer using the concept of the income effect and the substitution_ 

effect. 


